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1. B 2. C 3. D 4. B 5. C 6. A 7. B 8. C 9. D 10. B

11. D 12. A 13. C 14. D 15. B 16. D 17. C 18. D 19. B 20. C

21. D 22. C 23. B 24. C 25. D 26. C 27. D 28. B 29. C 30. B

31. D 32. C 33. B 34. D 35. C

04. A school of dolphins (when swimming together). So, option (B) is the correct answer.

06. ‘Won’ is its homophone; so option (A) is the correct answer.

19. A game is a part of a series and so is a syllable of a word. So option (B) is the correct
answer.

23. Option (B) is the correct answer, because when the reporting verb (in this case ‘says’)
is in the present tense, there is no change of tense in the reported speech.

25. Errors/corrections appear in brackets : A hen loss (lost) it’s (its) leg while running away
form (from) a snacke (snake). So, option (D) is the correct answer.

Explanations and answers to select questions
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